E WSS off, FAz
Jol H= 2SS BF I12H?
B

@ A = /C °olth
(@)AA—AD o|tt

® AC ¢} BD 7} 9hE= H-& 0 2t & uf, AOLDO o]t}
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@® 69° @ 713° ® 76°

AC & oloH

/BCA = (180° - 62°) + 2 = 59°
LACD = (180° — 140°) + 2 = 20°
- /BCD = /BCA + /ACD = 79°
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@® 10° @ 15° ® 20° @ 25°

®)30°
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/PCD = 30° ©]1. PC = DC 0|22
(CDP = 75°,

SoLx = T5° — 45° = 30°
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A D
B C
@ 2xAD =BC © ¢ABC = 2/ABD
© (DBC = /ACD ® ¢BAC = /CDB

@ AABC = ADCB

P60 28,6 006 @66 ©Oee

® AABC = ADCB9o|2 =2 /BAC = /CDB
@ AB = CD°o|1, BCE 35,
/B = /Co]|E2 AABC = ADCBo]t}.




9. th& 29l BABCD = AD //BC Y SHlAtekel ol AC// DE,
(DBC = 35°4 |, zx ] 27]& 5tH?

A D

®15° @ 0 @3 G

B ‘

AABC ¢} ADCB 94

AB =DC, /ABC = /DCB, BCE &%
. AABC = aDCB (SAS 3%)

/ACB = /DBC = 35°
AC//DEo|EZ

/x = (ACB = 35° (5917
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™H? e

D 110° @ 115° @ 120°

@ 125° ® 130°

AB=BE ¢S HE EBC Yol o™ A D

OAECD + HJAtAP o[t}
/BEA = (180° - 50°)+-2 = 65° -

(D = /AEC = 180° — 65° = 115°
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B ~
1 1
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O oA IHE2 ABCD 9] Zt H T 19 A B
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R R q
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2L ALY
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@ OB + 0D ® 2AB
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PSR ABCD 9] o ¥i9] dolg a 2t 5
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, ©I45(OP + 0Q +OR +08) = 5 xBD .. OP+0Q +
OR + OS = BD
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2712 Faloler

@84° @ 89° ® 91° @ 93° ® 95°

B \

ACE 104

/DAC = (180° - 132°) + 2 = 24°
(BAC = (180° - 60°) +2=60°
. /BAD = 60° 4 24° = 84°
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HoUh /D'AF = 22°d W, /FEA ©] 272 dgh2 227

@® 22° @ 34° ® 32° @ 44° ®)56°

B )

LAFD" =90° - 22° = 68°

(FEC = /AEF,
(FEC = /AFE =/x2 =0,
OAEFD’ o] A]

90° +90°+ 68° + Zx + £x = 360°
oo /x = (FEA =56°
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B N C
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C
B Vi C

00 9 2 W2 Ao
APMC = APNC (SAS 35
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-.OABCD = 4ADMC
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/ABC =/C=180°-(81°+x) =99° —x

/DBC = /ABC — x = 99° — 2x

ABDC o4 /DBC = 180° - (81° + £C) = x
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